< Lo
o o
Jaolgl | 8] | o NEE N
x| N Sl g| N SR 3 N
gl a o N gl a o N
S
3 a 5 a
3 3
O O
<l < . 2 = . 2
< N2 > o < N > g
< x5l ..e X < R X
sl E| 5| R|&|S|s| % AEEI R EHEIR S
El 2| & o|2|E| 8| o El 2| & 2|2 |E| 8| o
el 8| &lBlS|2|e| 8 S| 8| &l8152l¢e| &
s 3
3 8
o o
5 Z 5 Z
=] < =]
- 5 V = . 5 V 3
= & Q E S -
2 3 N X = 3 N =
E z(5| | © E E =[5 | © 3
$ 8 18 | 3 & > $ 5e g | 3 & £
< S| = > v.m RV, m < g| = < v.m o I
m p la X m p la I_
w \— — V ! w \— — V =
=8 =9 = =8 =3 2
55 |g|¢ ) 3 58 |g| ) >
25 |38 z © > a5 |32 > © £
£> |8 8 a £ £~ |8 8 a 3
S s & 2 (1) m 23 s & 2 w0 S
4 - n a - wn
35 . S & 35 . S
.Qlu,B y w N v% .QIUJB o w - v%
25 |55 |87 2 € |53 |3]=
% |2 F |' w2 gl E |B
) w n_OI.v. .m W e \O Wuz m, .m W o
e |53 |.|s w B> |53 |.|8 w
\! > . 9 %] e \ S | . 7] o
I NN = N NE R S
~
3]
v —
s = - 'L — T0WET — Z66EE — GLGE ~ D
= A—pmosnoda TEe  HE
<+ _ - - — _ = S
Hel T O = 00 N0 oo ST 0vee — yeeee — grage s |3)®
| | - - - ! ]
= Juuoja[a3} [agpy) ] \ 18'L — 80'¥EE — B6'ECE — BLGEE 018 =
B 101{DAD}S — 009 'NQ@ 890zI|DUDY, \ \\ 08’} — ZI'¥EE — ¢0¥EE — ¢8°Gee 008 <
= ~N
9/') — GTYES — GL'HES — 16°GES 00'LL P
o)
4
3 B GL'L — 66'81¢ — 68'8LE — $9'0lf ——- =
() Ve)
«Q I N o <
S 0L’} — S9'¥EE — GGPEE — G7'968 08'99 =R ~
GL'L — §67EC — £8'%EC — 8G9¢EE 068
; 68'L — 91°CEF — 90°S6e — CE99G 09'cc W_ \ \\ ¥9'L — [¥'BIE — LE°6LE — 10'1ZE —0£°'9.
\ \\ 3 S 18’} — 09°61¢ — 05618 — LE°1TE —007L
= 3
2| g pyfodiyd — 990z1jDUDY 08'l — 95'GE¢ — 9¥'GE¢ — 9¢°LS¢ 0G°9y
=T !
JOd 0N
= g [
e / i L'} — 00°9€F — 06'GES — L9LES 08'8¢
- \ \\ L'} — £1'988 — £0'9¢F — 08'LES 0r'9¢
M \ \\ GL'L— 1£°968 — 17968 — 96°L€S 0£°ee )
[Tp)
2 . . . . . | ™~
— Gl — TG'9¢C — Tv9ee — £1°8¢¢ 09'6¢ =1 pylodid — 890Z||pUDY 9/’ — 87078 — 81078 — ¥6°12S 006 o3
g W = 7 ‘ J GLL— 15008 — 12068 — 96168 ~—0lgr |
3 — laqoy |3 GL'L — T€0¢§ — ¢C0cE — 16'1¢8 £08'LY S
) I~
ly <
>
c _
qe)
N £ o
[ @] ~—
| 1 -
. = m & gy |3 GL'L — €9'028 — £502¢ — 87°7eS —02°0¢
U= . . . . . Tls
—] 3 1 o 6L'L — 61'86F — 60'85E — 88'65C 099 = \ \\
Flo % =y = E ! 9.’} — SL°028 — S9°0Z8 — L¥'Tes —0£°CT
i GL'L — 07888 — 01°85¢ — G8'66F ——© \ :
S g N | i
- = o o o B
S o — ] | | ¥L'L — 88°028 — 8078 — TSTLE —00'91
KT 5 S ]
.W 1L’} — G6'02¢ — S807¢ — 95728 —02°)
T \ \\ L'V — L0'1T8 — L6°028 — 0L°TTE —05'G -
~
] ] GL'L— 91’128 — 90178 — 18°7eS o o
POAQUA| f fl ¢l — 1T les — LI'1gs — $8°¢es e =3
ponouA|d \ \\ VL — 97'Les — 91'1es — (877 —0/L6 >
\ \\ G8'L — LTS — [£128 — TTELE —0/'16
()
N oxfodiyd — 900zijDUDY ¢8'L — 85178 — 8¥'12E — 1£°6E —09'88
N
S | ] o |
boe) 08'} — €L128 — £9'128 — £¥'¢es —0v 8
~
= ] 19 — TVTHE — Z0°CHE — 69FHE — - =TS m
= 76'L — [8TS — LLTHE — 69VHS 09°G/ ZIS T SL'L— 10728 — L6178 — 99'C78 09°9L =
' 2 - \ (8L — 8LTHE — 89°ChE — SCve [78 IR =
- 1 A\ \ 88| — ¥9°7vs — ¥5THE — (v vvs 0LL o~ a5
) \ v8'L — ¥STHE — YHThE — 8THYE 09'}L LU’V — S1'Tes — S0°778 — T8°6TE —017L
— 107 — L8746 — [TTHE — STHIE 0L'69 _ = \ \\
B
o / / - — \ \\ L'} — 62778 — 61728 — 96°€CE 09
o \ \ 9L — ¥8'LYE — YLL¥E — 0G°EhS 069 Pk oyfodiyd — ponoukid | 7 LI} — 8E°TTE — 8TTLE — S0¥LE —05¥9
poupon e e e [ — 11— e — v — 1y —ocs
— — — o
ponouA|d / / / 8L — ¥ Ive — PE 19 — 2lere ~\__ /0178 o
1 . \ 8L'L — ' LvE — 78 1¥E — OL'CHe 0¢'LG =
| lodiyd
Dloal — 9dDZl|bubD | — : J— . R . L n¢’
dud o NG PoAOpOA / / 18] — 660h — 680KE — 0/Zhs 0Leh wlodiy ljoupy] CL'L — 08728 — 007728 — CI¥s 0505
- / / 78'L — £80¥E — £L0VE — SGTHE 05 i =
o . . . . . < X
~ 78'L — 69°0¥E — 650¥E — L¥'THE 09°Ch = e _ . . . .
69'L — Y0'€TE — 6728 — £9VTE —0v'Th
3 pOAOUAY \ \ (8L — ¥50VE — POV — LETHS 0865 S
_/ / 88'L — 0G0¥E — 0¥'0¥E — 8CTHE 00'6¢ =
pylodiid — 29DZIDUDY Gl — IT0VS — LT0VE — 90°THS 0F'S¢ [ i VL — €CCTE — €l — [8%CE —0¢£'9¢
| poroufid \ \ L'V — [T6T8 — L1'€7€ — T6WIS —0L¥E
N
- | I L'l — 0¥'Eee — 08628 — $0'Ses —05°0¢ S
] BL'L — ¥8'66C — V1658 — €5 1S 0992 3 - | ave7e — eeTe — ol | o6 1|
7-L D10)S 09'L — CR'6EC — €/'668 — €L 14€ L9 m 1 ] I Mﬁ — Wmmwml mwmm| mmwm Immmw 3
. <
S laqy |3 09’} — 166 — 19°65¢ — LT 1S 0T0¢ 8|~ \ \ S/l — 19678 — 15678 — 97°G7¢ L 0v0z
>
- / / = 1 ] \ 9L'L — L9878 — LGETE — €£°GT8 —06'91
= 19’} — 8565 — 8¥'65¢ — 60" 1S 08¢l Z 8Ll — 11§78 — 19°¢78 — 6878 L0791
()
— |
> ¥8'L — ¥8'C0¢ — ¥L'C78 — 8G'STE —0L'9
/ , L9’} — 8°6£C — B8T'6ES — G60VE 09¢ \
pylodiyd — 290z1jpUDY / / 99°L — 7£'6£¢ — CC6CC — 88°0Y¢ aOmo \ 6/’ — ¥6'CT¢ — ¥8'CC¢ — £9'GCe |meo
2 L'l — 66°€C8 — B8CLE — £9'GZE —0G°L6
£9'L — Z7'665 — 7165 — GLO¥S 0966 @ - _ L[| — 20%es — 6§28 — £9°Gee —00'96
N I
pyfodyd — s9pzyPUDY / / ™ 08’} — 60728 — 66°€28 — 6L'SCE —00°26
T L9’} — 60'6EC — 6685 — 99°07¢ 0688 =
n/_ (o))
= &
| GL'L — §T¥TE — €L¥es — 88'SeE —0v'c8 S
[c@)
\ \ 69'L — 69'85¢ — 6585 — 8Z0YC 0G'6L ~
loqy |3 \ \ 89'L — 6G'8EC — 6’85 — L1°0¥E 0CLL 2
ponouA|d \ \ 9’} — 8¥'85F — 8£'85¢ — G00¥E 0LL = — 1 \ i 18'L — ¥¥es — ¥E¥IE — GL'9T8 —06°GL
9/'L — 0£'8¢ — 07°'85¢ — 96'6¢5 087L N 8'L — 6V'¥2E — 65YZE — 12°9CE —0'¢L
= poAOpO / / A N Ve R \ \\ w
S o5 GL'L — 69778 — 6G¥ZE — Y978 —09'G9 =
—— \ 'L — 81°/€C — B0'LES — 78'8ES 019 < =
T DR OB T R e 3] 1 86'L — 1£°G78 — 17578 — 61'LTS 07'LS !
- — — 161 — 8806 — 98 — 1Iee ~— 0698 ~
| / / S) T
m | s 26'V — L9578 — [G'STE — 6Y'LTS my 0r'zs 5
o
1 9L — ¥L'6EE — $9'60C — 1£7/S 00°8¥ = 2 |2 _ . . . . T
™ £ POAGPOA (8'L — ¢1'928 — £0°97¢ — 06'/28 —07' LY ©
2 B 3 oyfodijd — 9DzijpuD), \ \\ ¥8'L — 6978 — 65928 — 7878 00y &5
3l IS ~| . T C8'1 — 26906 — ov9ce — 68ee —~—0/'ch e
ol f'e)
= 2 -
I 1 UL — STCEE — £1'GeE — 68'9¢6E 06°L§ | S \ \\ e
. — 1 \ \\ ¥8'L — 18'92¢ — 14978 — §5'8e8 —00'9¢
S \ \\ 16'L — 00'L28 — 06'92€ — 18878 —0L'LE
D
S — ] f i 88'L — ¥7'LIE — Y1'LTE — T0'6CS —07'9¢
& [8'} — $£'[2§ — §TLTE — 01675 —0L¥¢
| 3
L0
-
— 1 (8} — 16'CEE — 180 — 89'GES 06'L1 . _ . . . 5
— 1 \ \\ GL'L — 68'LT§ — 6L'LT¢ — ¥S'678 —07'L 1 =
- 89'L — 80°'87¢ — 86'L2F — 99'67¢ —08'L a
o ~ [
S - <
et - N Po)
o — ] GL'L — GG'828 — G¥'87¢ — 07068 D 66 =
© ©
S S
1 9’} — 66765 — 68776 — 9G¥ES 0L's6 = S
~N
g > =
S
o — 1 \ \ 98'L — 71828 — 79878 — 87068 —09'98
>
o
= = 98'L — 8/'87¢ — 89'87¢ — ¥G0EE —0/778
3 = L
‘ _ 06’} — £8'87¢ — ££'87¢ — £9°0¢¢ —08'8L
— 1 \ 16'L — 98'878 — 9/'82€ — L[908 —09°9/
o 16'L — 06'87¢ — 08'87¢ — L£05¢ —08'¢L
= £ =
- a3 08'L — 00'62¢ — 06°828 — 0L'0£S 0599 o
S = / 08'L — 00'6¢F — 0682 — 0L70£5 —~\ 08G9 T
° | — 1 3 89l — Z0'6C¢ — 6828 — 097068 K\ 0609 =
o - - 89'L — 2060 — ¢6'92€ — 09°0¢S 0v'85 o
= = (9L — CO'6CE — £6'8¢8 — 09068 0045 N
oG o 69'L — $0'6¢5 — ¥6'8C¢ — £9°05¢ 0025
ES 6L'L — G0'6¢§ — G6'9¢E — w1 °05¢ 0 6%
— 1 = 8’| — G0'6C¢ — G6'9E — £8°06¢ 0697
Q £ 88'| — GO'6CE — G6'8CE — €80T 0997
< e [£'L — 90'6¢§ — 96°8¢¢ — £€°06¢ 087¥
— 1 o= \ 7L 90'6CS  96'9CS
= 2= 8’| — 95'8¢¢ — 9v'92€ — 0£°06¢ 0Ly
< 1 [ S, 6v'C — 96'828 — 9’928 — G6105C 00 ¥
il ] : 60 — 9G'82§ — 9¥'9¢8 — GG'67E 05°CY
= PoAOUA|d [ / €)'L — 96'82¢ — 9¥'8¢¢ — BG'6¢S 09°Ch S
El PA-19A 1 Z / G0 — ceags — Grage — holte \l—J Oy |
=9 £y — a \\ 65C  G58C¢  Ghgcs 050 E
. = 7 [ / GL'L — BE'6CE — 62605 — ¥0'1ES /070y =
3 B P : e R AN
T L9’} — 86°06€ — 880 — 6G2ee e M_mm porouig / I VIT— 8r6Cc — BE6CE — gl ISe N—p0ggs |
= £ M 1 ] i ﬁ._ — om.m% — e.&u — e.ﬁ Ioo.% B
=S \ \\ 99’} — 1L'628 — 19628 — LTS —0¢°¢e <
© 3
— 1 \ \\ 9L'L — %0088 — ¥6'628 — OL'1ES —07'6¢ W
()
= >
= ! o3 69'L — 6£°08F — 6705 — 86'16S —09'GC T
ErdEee) .
\ \ %
S| N 1 GL'L — 88°0£F — 805 — €G2S —09°0¢ .
pe ©
[S] 3
L \ \ 16'L — ¥1°67¢ — 0678 — G6105C 09'L1 25 m \ \\ !
= WJ / / |8 08'} — [T7€8 — L1765 — 86°CES —00°01 ~
ok ¢ A avi A
& 2= O w|d ! | Il oL — §8EEC — £7288 — G9¥Es —— 1017 =
=l e SIE 13 fl L1'C — 8£°¢6¢ — 8CCET — BLGES 001 =
13 ,._W., \ S o 6’|l — Y0800 — V6L — 6l ——O SE H ~ \\ . T
o5 o S S S 1 i 66'L — 2GCET — TH'EEE — L¥GEe —00'86 o
e " L . 8 S = POAOPOA | i G6'L — 09°06C — 0G'€8¢ — Gr'Ges —06'G6 3
S % — o oS S = 16'L — 69'C5¢ — 6GEEC — 05°GES —0/'C6 =
< NTS S > @
> ﬁla i ,n_nu ©
S 1~ P c X ¥8'L — Z0'EE — 76'€5¢ — 9/°GES —07'98
~— m c o ..n_lu. © m,e
E .o OCiZ o ‘S - c = O
[} ~ o 35 Q o o = ~ © -~
N > m o N Q o o = 3 E =
R ~O -- + - (@) O O O x
— QO DI k N = e
i > > a T ® 5> ©a e LT
‘© 52 > O >0 © o > O = o - SL'L — ¥GPEE — ¥heE — 61°95S -0
590 O;5 £ X S c c S D X §
= - © © wn >0 -
858 =L a,ewﬂ = © © © S =
S5X o= o 3 8 £ 8 38 S%
0> Y T £ £ < hin &=
Wnoa =
g
~18 TL') — 67668 — 61°GES — 16968 —00°0S
5|8
9/') — 65°G6S — 6¥'SES — GTLES —00°07
0
(a>)
M
GL') — G8'GET — GL'GET — 0GLES —0L'1§ S
~
=
£8'L — 00'9¢¢ — 06'GES — €L7/€S —05°0Z
2 LN
= =
= ¢
. N
- S O 2
> += SL'L — [T'968 — L1958 — 76/ ——O
X m ~ m
o3 > o
(D) S o
& O - S
o c = o
- ﬂ_m O o ~
S — N\ o >
ry jpp— 1 lm
S m I ~ buel e
g 2 o= 2 - 3 © c
S 0 A o - 'S 3 o £~
NS E O In a 3 o £ > O
S e n — - o S ~ 5 o —
N— m 4 la p 1 Y4 ._m > rm C Y N
=538 = T o 5 F 5> O
£ . -
‘OO & > O > @) © © > O = o
S5Aa0 o=xXLC c = c D o 5
L —_ X + o DL o0
L N >n’Nig = o) © © w =9 -
BOR alo 3% 3 8 8 =B 35 ©®e
XO> oo 2 T £ £ ¢ S A=
0o =

492.60

HDPE @ 63x5,8mm

, délkavm

|, profil

d




